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Take-Home Essay Question 1

Instructions: This is the first take-home essay question in this class and it is worth 50 points.  The essay must be typed, either double-spaced or one and one-half spaced, and use a font size no smaller than 12 pt.  While there is no definitive page constraint, you are encouraged to practice economy of presentation.  You need not type any graphical analysis used in support of your answer, but such graphs should be constructed with precision. Your name and student number should appear in the upper right-hand corner of your essay.  You are encouraged to work with your classmates in developing the ideas necessary to answer this question, but the write-up itself should be your own work.  These instructions should be followed precisely. 

In the aftermath of Hurricane Katrina, the government has considered a number of measures to protect consumers from rising gasoline prices.  Specifically, the government is giving consideration to implementing price ceilings on gasoline and also relaxing regulatory constraints on the production of gasoline.  Relaxing regulatory constraints may entail allowing refineries to emit higher levels of pollutants in the short run.  The demand function for gasoline is given by QD = 20 – 2P and the supply function for gasoline is given by QS = 4 + 2P – 0.5r, where P is price, Q is quantity and 0 ≤ r < 48 is a measure of the stringency of environmental regulations governing the production of gasoline.   

a) 
Determine the level of consumer surplus that prevails in this market under the free-market (i.e., no government intervention) outcome when r = 8. What general conclusions can you draw about the relationship between consumer surplus and r?  Provide a careful economic analysis in support of your claim. (20)

b) 
Continue to assume that r = 8. Are consumers better off relative to the free-market outcome if the government imposes a price ceiling of Pmax = 4? Provide a careful economic analysis in support of your claim. (15)

c)
Suppose that the government imposes a price ceiling on gasoline of Pmax = 4.  For what value(s) of r are consumers strictly worse off relative to the free-market outcome you derived in part a)? Provide a careful economic analysis in support of your claim. (15)  
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